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Grade 4
Maths Equal Groups & Division

Multiplication:
8 taxis have 3 passengers in each. How many passengers are there altogether?

8 x 3 = 24

Division by Sharing:
24 passengers must fit equally into 8 taxis. How many passengers go in each taxi?

24 ÷ 8 = 3

Division by Measuring / Grouping:
24 passengers travel 3 to a taxi. How many taxis are needed?

24 ÷ 3 = 8

Solve these now:

1.	 12 passengers must fit equally into 4 taxis. How many passengers go in each taxi?

2.	 18 passengers must fit equally into 6 taxis. How many passengers go in each taxi?

3.	 12 passengers travel 3 to a taxi. How many taxis are needed?

4.	 20 passengers travel 4 to a taxi. How many taxis are needed?

5.	 27 passengers travel 3 to a taxi. How many taxis are needed?
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